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1. [3 marks] Find 6 + 2 + 2 +
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2. [3 marks] Write a recursive formula for the following.

Remember to write down the values of the index.

2" for 3<n <8
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26 and d = 4.
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[4 marks|] An arithmetic sequence has as

Find n so that a, = 298.
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5. [4 marks]| State the order of the following expressions:

a) 8n! + 7(2")

b) 5(2") + 3n?
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6. [3 marks] List the following from smallest to largest:
0(2"), O(n?), O(nl), O(nlogn)

7. |2 marks] Camosun currently has 14,000 students. Camosun
wants to know the ages of all current students. One hundred
current student records are randomly selected and the ages of
the 100 students are analyzed.

a) How many measurements are in the sample?

P

b) How many measurements are in the population?

8. [2 marks| State whether the following variables are discrete
or continuous:

a) Number of times a user has reset their password
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b) Time (in seconds) it takes a user to reset their password




